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20148 = 20 A 2EINAHAELSH A
2 8H
HE: $EBE 2FYX
ol 2HOY YUK (2BHLSHEH) (ol @)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
sSA3 0 2,909,970 4,039,502 N 1,129,532
J| 2,894,110
Al 15,860
=& EH Q@A 70,233 67,066 3,167
J| 67,066
Al 3,167
FEHQH YU (EHIMNHELSH) 70,233 67,066 3,167
J| 67,066
Al 3,167
SEQHE Zarate| ALY 70,233 67,066 3,167
J| 67,066
Al 3,167
201 et d| 1,167 0 1,167
01 AF 2t 2| H| 1,167 0 1,167
o+zeIEYBE Y2ET 1,167
202 04| 2,000 0 2,000
01 2Ll 2,000 0 2,000
OMNEAY L QHAIAZ A X0 S 2,000
207 I & 67,066 67,066 0
J| 67,066
01 A& 2| 67,066 67,066 0
©'13d QA=A O|HEI 249 60,000
J| 60,000
OHIEAZAIE 2LEHZE 249 7,066
J| 7,066
WEEs=s(230) 2,839,737 3,972,436 AN 1,132,699
J| 2,827,044
Al 12,693
HWEHAHXES(FEIHNLHELESH) 2,827,044 3,966,547 A 1,139,503
J| 2,827,044
ZBEH2AE 725,409 747,096 ~21,687
J| 725,409
404 BIIANZHES 725,409 747,096 ~21,687
J| 725,409
01 2I)|IEELEIHN=2AE2 725,409 747,096 N21,687
ONFotEXMel & SO X AE 688,538
J| 688,538
O&XJ| Otsotx=% HHIAY 16,131
J| 16,131
OAE DISolx=% HHIAE 20,740
J| 20,740
ol=&A 2,101,635 3,219,451 AN1,117,816
J| 2,101,635
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S HEHAHXNES (=EMAHAEL S AH) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %Ei HRE2

404 2128 E2 2,101,635 3,219,451 N1,117,816

J| 2,101,635
01 Z2I)|IEELEIHAN=2ANES 2,101,635 3,219,451 AN1,117,816

O™ F=(CS0s X c2lAl& 946,391

Dl 946,391

O AtHel S ot HUIAY 130,624

J| 130,624

OZF2(3, 10=27) ot=2)1 HUIAMY 234,930

J| 234,930

Oot=2ZHAEH| BTLAIY A& & 729,047

J| 729,047

OZEXSA(12F) otx=2H HHIALY 60,643

J| 60,643
BEINES(ZHIHNLEELSH) 12,693 5,889 6,804
MX=2(AW) 12,693 5,889 6,804
802 Bt&t=D| Ef 12,693 5,889 6,804
BEREEETTEE 12,693 5,889 6,804

©O'12d FEQHE=ES O|HEI 22 11,888

OHIEAZAIE PLHYE 4 805




